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Name: Test Series Time: 70 Mints | Marks: / 50
Roll#. Section: MATHEMATICS 10" Syllabus: Ch#1 + Theorem#1 [Ch#9]
Objective Part

1| A®OO0 |022] AEOD® |0B] AEOD || ABOO |06] AB®OOD

6| @WEODO |71 WB®ODO |B|] AEOO |09 @®OD |10 QICICI®)

/;'/ UsHsosljekl-Sns & LU}LLL);/’I)::WJW Loferna J u:jl:é'ié;:),gl -gﬁZd,}DJ:I CBAxliz 0 Jlgc’:Jlr' Y, Ll
M) Ol s
£ W&Aﬁu}( A ey d/ i/ ,é/ d.ab’u_/
, A
D C B A Questions /| =y .
N
b#0,c#0 a=0 c#0 b=0 2 Sdsadnbamtlidlor +Bato=l | |
ax” +bx+c = 0will be pure quadratic equation:
fﬁﬁ r_ﬁw ri\/’?w (iﬁﬁ ?fﬁ:_{d’Kélxz =] sl
4 7 j < ) > : 4 } < 5 > The solution set of 4x* =7 will be: 2
el oz 2 _ v

(x=D(x=2) | (x+D(x=2) | (x+D(x+2) | (x=D)(x+2) ULzl X —x =2 | g

i
Two factors of x° — x — 2 are:

{—li\/—_3} {1iJf3} {liﬁ} {—1i\/§} ‘eSO +20-2=02b |

The solution set of x> +2x—2=0 is:

.,/fld/i.lgdabbgf.ﬂ.g! ax2 +bx+c =0~

a=0 a+( b=0 c=0 ; | o 5
ax” +bx+c =0 become a linear equation if:
JL}..:;; ..:.J;LMJ:G” aljbﬂd;,% el (S99 +3Mm;ud/f azx + b, a +c=0
Exponential Reciprocal Radical Quadratic Equation in the form of a* +b,a*+c¢ =0 is called: 6
equation equation equation equation ’
peg, | U By | FHHeuo oW bdag L SmP LS
Square sign Exponential Radical sign NeiieaEthpge, |0 equatlgmigh\volymg impression of the variable under
s1gn 18 called\radical equatoin:
<"‘f/
. ZN3x+18 =hl-
x=6 x=-3 x=6,x=-3 x=73 Q e L3 ol 8
“Eh@radlcal equation J3x+18 has solution set:
p C 3x+18 = x whsl-§ui
X:3,X:6 x:—3,x:6 x:—-3,x:—6 X = 3 @ U:U)N” \/ " ’ LSJA? 0
Two roots of radical equations J3x+18 = x are:
(X+7)& (X_7)& (X+7)& : g _u;z;;?&ﬂ..{néxz—ls)HSé 10
(x+8) (x—8) (x—8) 1,ﬂ{§\< X+8 Two linear factors of x° —15x +56 are:
—
,(\fé \ Subjective Part
20 | Write short answers to the @llfﬁwng questions. ...g:.«yﬁ /"f Lty Sioms | 2
Solve by factorization: x* —11x =152 x> —11x =152 :ZF§5 2.4 (1)
Solve the equation using quadratic formula: 32 +x =443 2 F e S Ly 6 Gnsss (11)
—(L+m)— x>+ Q2L+m)x =0,0#0:85 F  J&1 s S Gssss (i)
Solve the equation using quadratic formula:
(X+7)(x—3)=—-7 :é&ﬁﬁ&abb&ﬂﬂ;ﬁmédfpb'd{l:v:(&b(.w (iv)
Write the quadratic equation in the standard form and point out pure quadratic equation:
Solve the equation: (2x° + 1)+ ? =i (2x”* +1) + 23 =4 :éfd"fm,u (V)
2X°+1 2x° +1
Solve the equation: \/3}( +7=2x+73 \/3)( +7 =2Xx+3 :ﬂéd"fmu (v1)
1 1 1 1
Write 1n standard form: -+ =3 =3 2 L F d;l,vd/ e sl (vil)
x+4 x-4 x+4 Xx—4
Define reciprocal equation and give an example. _EJelin gty Jl el | (vidd)
2x+1 x-2
Using quadratic formula, solve the equation: XX =) ;L‘f LU s 2k (1X)
Xx+2 x+4
What 1s meant by standard form of quadratic equation? Tl s c.,ﬁd;‘l:z»d/ e fals (8ssss (x)
12 +8=20 | Attempt All questions. -y Felzlelyr | 3
L 2 | 1 2 1 1 . )(a
Solve by factorization: = — = — 22 P $5 2
’ x-9 x-3 x-4 Xx-9 x-3 x-4 Sk
Solve the equation: (x —1)(x —2)(x =8)(x+35)+360=0 (x—-D(x=2)(x—-8)(x+5)+360=0 :5FS=nL-| (b)
Solve the equation: x*=2x7—2x*4+2x+1=0 X" =2x7—2x*+2x+1=0 :ﬂé‘j"[mu (¢)
Prove that one and only one circle can pass through three non- i , o B s .| (d)
collinear points. b o fle b8 F ol S et
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Name: Test Series Time: 70 Mints | Marks: / 50
Roll#. Section: MATHEMATICS 10" Syllabus: Ch#2 + Theorem#2 [Ch#9]
_ ~ Objective Part |
01 WEOD (12| W®EOD B3] A®OD 4| AB®OD |05 ABOD
06 WEOCD 0T ®W®BODO |8] WBOD |09 AB®BOD |10 WBOD
{:( UsrbmlieLl-Sus & ;wfgﬁt:@ﬂ;%‘?awr.CVl;‘.’.u»a.uiu:jl)Zé.)/;:l-u}ZQJDm CB =A¢Ll£;ﬁjlgédlr y L)
il Ul o
K.? J:E....Jﬁu;( PP SO g J i/ /;/'/ &QL/
z
D C B A Questions | =iy Y
#
- 3 2 1 U.?Jjj :J&? & LJ% 1
There are complex roots of unity:
W =7
®° —° —® o 5 _o 2
4 3 -3 3 e oA WL Ax*—3x+6=0 )
3 —4 4 4 Sum of roots of 4x°—3x+6=0
2 9, 1 1 > b g
a’ -’ a’+ f x_p . . . S 4
a f B « 1S a symmetric function.
x*=Tx+12=0 | x*+12x-12=0 | x*+7x+12=0 | x> +x+12=0 . . :d"'":"”u";””“iéﬁmf?’ﬁﬂ S
Quadratic equation for the roots 3 and 4 1s:
u;‘fé[ Jbt &:..5?/{ JL’L/{ _ujuj'5)£4xz—5x+2=0;:.«l;lﬁ 6
None of these Rational Imaginary Irrational Roots of the equation 4x° —5x +2 =0 are:
1,—0,—’ ~1,—-o,’ -l 0,-o° -1,-0,—-®’ c"“@&b st Pl 7
/ﬁfQ ~Cube roots of '—1'are:
(o) . ; ) p
¢ ’“{Q Jus(Roots) /'Ll x> —x—1=0 =blsBca i
8
4 A , /@s 0% _ebre ASLE2B s 20 g
<\ﬂ§/ If o, Bare the roots of x*—x-1=0 then
f\g&(b\ﬁ product of the roots 2a and 2 1s:
AN * -
®, ®° l,—m ~,® g 1,—1 O e LK 9
RN Two square roots of unity are:
Jbt/:; 5:?;; \@iw (}E?u:'/:t J??r,{l4 -wuj)JCCZI-XZ—ZI-X +1=0 /sl 10
Irrational Imaginar§ N Real, Unequal Real, Equal | Roots of the equation 4x° —4x +1=0are:
Subjective Part
20 | Write short answers to the following questions. -é@&lﬁ o4 Lty Sions | 2
Using discriminant, find the nature of the roots of the equation S sl 2 Cul i O 2k L SUu L enl 0
and verify the results by solving the equation: x* —5x+5=0 x2—5x+5=0 2 V82l )
Evaluate: (9+40+4»°)’ 9+40+40°) 1 Zpkred (i1)
X*+4x-9=0 :ér)l’”fﬁflw;l;/KJJ}/?4JP[¢IJP (iii)
Without solving, find the sum and product of the roots of the equation: x*+4x-9=0
. . : 2 % 10 = ‘ i . , 7 ) |
E;n;i h, 1t the roots of the equation x”—hx+10=0 differ ] éf’ Jor e S M IO L X% —hx+10=0 whieS] (iv)
Without solving, find the sum and the product of the roots of the = r:L” — 7 Sl sl oxh é S adsls Goisas V)
quadratic equation: 3x° +7x —11=0 3?4+ 7% 1120
Define symmetric functions. Sy SSET | (Vi)
Discuss the nature of the roots of the equation: 16x* —8x+1=0 :é&ﬁé L) S ujué.:.«l:u (vi1)
Evaluate: o’ +®” +1 S o S+ +1 | (viii)
If o,pare the roots of the equation 4x*-3x+6=0, then find: :é’»,@ VU uj,,, L 4x%-3x+6=0 =bl-q,pB ]
E + E E + E (1X)
B « B o
Write quadratic equation having roots: 1+1i,1—i Url+i,1-i ujmf.f Y [y 9113 (x)
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12 +8=20 | Attempt All questions. -eiff Mzl ely | 3
Find m, if the roots of the equation x*+7x+3m-5=0 JWZQJUJJJL X*+7x+3m-5=0 é'ﬁbﬁéf‘}b"&ﬁ’jd/m )@
satisty the relation 3o —-28=4 et 30 -2B =4
If o,Bare the roots of the equation 4x°—-5x+6=0, then JJL?Jr 12 ;uﬁuﬁ’,J£4x2 —5x+6=0 =+ o,pB Pt
. 1 B of (b)
find the value of: — +—
a B of -éry“”
Find two integers whose sum 1s 9 and the difference of ] éf' IR E 0P LS s ol éj’” (©)

their squares 1S also 9.

THEOREM. |8 Marks]

Pro's-re that a straight l-ine,_ drawn f1:0m the centre of a _circle 4,/":clz>‘,.zb3'Ul:L/_ﬁf“"d/(ﬁ;/5£)/":u’(c:..//cf.a.f'bfé/&:t" (d)
to bisect a chord (which 1s not a diameter) 1s perpendicular | ~

to the chord. _é.l:'m/
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Name: Test Series Time: 70 Mints Marks: / 50
Roll#. Section: MATHEMATICS 10" Syllabus: Ch#3 + Theorem#3 [Ch#9]
Objective Part

11| ®®0C® [02] ®®O® |03]| ®BOD (04| ®EOO (05| BBOD®

06| WP®CODO |07 ®WBOD (B8] WEOD |9 HWEOD® (10| ®EOD

{:( UsrbmlieLl-Sus & ;wfgﬁtﬁﬂ;.‘w& b LR ) u:beE':.)J;:l -LEZ%)DJ}’ CBcAellz o0 Jlgédlr' y L)
; . il Ol g
.fﬁﬂ#hﬁwdﬁufkULpﬂﬂdlmxzféﬁLLdf
D C B A Questions | Uiy Y- Y
S . O b WLy S« L)"-‘L’
O Ul L ‘ ZLisadoin |
Extremes Means Statement Proportion | Equivalence of two ratios 1s called:
: -
5:3 6:1 3:5 600:1 Sm:Lem=1|
600m : 1km ="
None e L] Sr'd e J81 e 3
VAirs meter kg Kelvin The unit of ratio is:
None M'Jﬁ-v”[:;. J}é) n..‘.-ft:' ?/tl'u),; :Q?JUJJ}U::.;KL-;U
<104 Directly Inverse Both Circumference and radius of circle are: 4
proportional | proportional | proportional
30 Y 193 130 e I0hag £2045 | ¢
B - B For 20, 45 mean proportional is:
3 2 +23 4 e N 64612 6
B 3 Third proportional of 4,12 1s:

B S O L)l ) N D
(x+3)>+(x=5)7° 5

x =19 x =43 x=-3,-9 x=3,9 What will be the value of x for the equation 7
(x+3)° - (x5)* 4

(X+3) “'@(M 275

= J\/ -
O =% uf-f)’ u,‘b/: :ujLLLg(c;;lbufa:b::c:d.,wbi'
None of Fourth o \ S
. Extremes Means N a‘proportion a:b::c:d, b and c are called:
these Proportional " 2ND
a—b x-y a+b x+y a X ;% :a#dlel?ﬁa:bzx:y)ﬁi
x y b y E Ty A @ - . ‘ 1S: ’
y WY If a:b=x:y, then alternando property is:
~\ O )
a—b c—d ad a .SY\FV a C b d
= — ,\{ x = 10
b d bc a—< =d a+b c+d qa _
W If A 1) then componendo property 1s:
Subjective Part
20 | Write short answers to the following questions. -a".:.,y.e o Lty Sions | 2
Express as ratio a:band as a fraction in its simplest 1. P e : .
form: 27min. 30 sec, 1 hour 3027 241 'éﬁwu:fﬂ;d//c” i 1)

Find the value of p, it the ratios 2p+5:3p+4and 3:4are

~U»nss3:4 2p+5:3p+4u5'3/';l_:4:(’:b”.:.‘1’1fp (11)

equal.

(111)
It y varies directly as x, and y=8when x =2, find X when y =28

1
a V=320 L& P rar=6_2Z 4V _cr=3_2V=5sVoe=
| G
Vo —and V=5when r=3, find V when r=6and r when V =320
r
Find p, 1f 12, p and 3 are 1n continued proportion. _é(;hf‘ p ?u;wt — J’J/ 3 »ip,12 Ji (V)
Find a mean proportional between x> —y?,>—2 X’ —y°, : Sh r:L’”H/L-JldL/: (vi)
X+Yy X+y
State theorem of componendo-dividendo. _é b _-,»»M ,.T,{}' i (vii)
Define joint variation. Cest pUe F S| (viid)
Find the fourth proportional to 8, 7, 6. SR AP 266,7,8 (ix)
If x and vy*varies directly, and x =27 when y=4. Find the value . N ;
4 4 4 M“d/y:y=4_.ex:27;;mJﬁ’/f’uﬁy3;;lX/(I (x)
of y when x =3 ‘
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MX=3 wéf}b"
12 +8=20 | Attempt All questions. i fezl ey | 3
Using theorem of componendo-dividendo, find the value | /. 5 4o, % p.. 3 (m+3p m+2q, _ 6pg 7| )@
of M*3p m+2q.. _ 6pq ' m-3p m-2q p+q
m-3p m-2q p+q ekl S
If w varies jointly as x, y?and z and w=5when x=2, | <y=3x=2 caw=5 s v & fz sy* X w yl b
y=3,z:10.FindWWhen X=4,y=7ﬂﬂdZ=3. -!E‘Z=3JJ’y=7fX=4,«éé(}LVW-!EZ=10 )
If (abedef#0)o="=>,  then show that|JS & =& J@bcdefz0)o="==
b d f b d f
- —2/3 - 5 | (€)
ac + Ce +€a _ & ac+ce+ca _ E
bd+df +fb | bdf bd+df +fb | bdf |
THEOREM. [8 Marks]
Prove that perpendicular from the centre of a circle on a (d)

chord bisects it.

..?.t'/_.&f}ﬁgfu’lc;f47:g;/c_}(/£¢.?l;fémﬁ'
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Name: Test Series Time: 70 Mints | Marks: / 40
Roll#. Section: MATHEMATICS 10" Syllabus: Ch#4 + Theorem#4 [Ch#9]
| ~ Objective Part |
01| ®®OCDO |02 WEOCD 3] ABOD (4| ABOD |05 WBOD
06| WEOCODO (07| ®W®OD |B8] WEOD |09 ABOCDO (10| AB®OD
{:( UsrbmlieLl-Sus & awfgﬁt:@ﬂ;;ﬁh‘?awL;.:.J;?.c:.«m);uﬁu:jl)Z&.)éjl-wZQJDm CB cA:.aLl;‘:;legA:dlr Al J
2iad Ol
K.? J:E....Jﬁu;( PP SO g J i/ /;/'/ &QL/
£
D C B A Questions | =iy Y
Y-
2
X +3
: : AbF "‘?"/ !
Ui A & B /u:..ffl: /a.:.azi:/:f Ot (x+1D(x+2) 1
Both A & B Proper fraction | Improper fraction o 2
P PIop fraction X +3 is a/an fraction:
(x+1)(x+2)
oI SYAVA" sl 2 / - L2(x+1)=2x+2 5
Equation Unequality Identity Fraction 2(x+1)=2x+2is a/an
" % 7 . 3
(Dl ~xiy | xaDlf ~x~1 | rrDe —x30 | DS #3345 - 'w‘}/‘;"‘z'"&: e A
Multiplication factors for x” 41 are:
7 a)&}a:..,.;ﬂé:,f;; 22 Kn/-fjls:d:u)/
U:E}(j)(c:.-uﬁcﬂ = 3L~ /_‘lej/f /h'd}"j -{—-JM A
None of these | An Equation An Improper A Proper A fraction in which the degree of the
Fraction Fraction numerator 1s greater or equal to the
Al &egree of denominator 1s called:
N . s -
OV wdnds 24 D)
W\ O X—1)(x+
Ax+B C A Bx+C Ax B OQQQ\BO S 5
x—1 x+2 x—1" X#2 x—1 %42 /@%\ﬁi’i +2 Partial fractions of - are of
rffg/ (x—1)(x+2)
N\ the form:
TN\ - -
O ! X+2
~L\ O ; -ugdﬁJf’ j/d}ZJ(x+l)(x2 +2)
A . Bx Ax+B  C &@v+3x+c A B | | 6
x+1 x2+2 x+1  x2+2 H\f'ngﬂ X2 +2 x+1 x>+2 Partial fractions ot —— are of the
(\i\/ﬁ\/ (X+1)(X +2)
o form:
" " . x* +1
_Q,Ed:/fd/f‘. J/d‘,zd/(x+l)(x—l)
Ax+B = C L A B . A Bx+C A B » -
(x+1) x-1 x+1 x-—1 x4+l x=1 x+1 x-1 Partial fractions of i are of the
(x+1)(x-1)
form:
wf e S PSS R LSS
/"."'?lf’ &L"L/ /("‘.,"'“%l"/«:P i fil, o4 -%—d”’?f 8
A Proper An Tdentity An Improper An Equation |A fraction in which the degree of
Fraction Fractions numerator is less than the degree of the
denominator 1s called:
‘ . Ry 2x +1
Ao | " K | D) |
None of these P An Equation o HHPTOPEL 2x+1 .
Fraction Fraction ( 15.
X + 1) (X — 1)
o s . - 2
e L sl ‘-Z’L*L”_&M < Li(x+3) =xT6x49 |
None of these An Identity An Equation st (x+ 3)2 =X’ +6X +91s:
Equation
Subjective Part
10 | Write short answers to the following questions. -ﬂmglﬁ o Lty Sionr | 2
. . . 5x+4 S5x +4
Resolve 1nto partial fractions: = Y j
P (x—4)(x+2) g FUFSOS )
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. . . +7x+11 *+7x+11 -
Resolve into partial fractions: (:_{_;);;;_ 3 (:+;)2)E:+ 3 Hé J:V u.’:;/ SIVA (i)
What 1s an improper fraction? ?%J sl Sl # (iii)
Resolve 1nto partial fractions: 21 1 21 1 ;: Jf} u:b/ SIVA (iv)
X = X —
How can we make partial fractions of B ? ?UE&J: lgétab)’ u/ ey d:'zd/ x—2 (V)
(X +2)(x+3) (X +2)(X+3)
12 +8=20 | Attempt All questions. i felzl ey | 3
: : . X’ X’ ~ )(a
Resolve into partial fractions: 2 7 7
esolve 1nto partial fractions D A1) iDL F J"”u”us/d:
: : : 3x+7 3x+7 2
Resolve 1nto partial fractions: 2 B 7
P (x +3)(x*> +4) (x+3)(x*+4) ~ Ko (b)
2 2 o
Resolve 1nto partial fractions: ; :i ‘: . : ;é: Jf’/ U U9 / $27 | ()
THEOREM. |8 Marks]

(d)

Prove that it two chords ot a circle are congruent then they
will be equidistant from the centre.

L U Lold) d;L»c..f /a:}"usz&L}“}'mia.}b)ﬁff é::«:f'

o
A
Hy
R
N
,@@
"\ﬂ& O\
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Name: Test Series Time: 70 Mints Marks: / 50
Roll#. Section: MATHEMATICS 10" Syllabus: Ch#5 + Theorem#5 [Ch#9]
Objective Part

11| ®®0C® [02] ®®O® |03]| ®BOD (04| ®E®OO (05| BBOD®

06| WP®CODO |07 ®WBOD (B8] WEOD |9 HWEOD® (10| ®EOD

{:( UsrbmlieLl-Sus & ;wfgﬁt:@ﬂ;%‘?awr.CVl;‘.’.u»a.uiu:jl)Zé.)éjl-wZQJDm CB =A¢Ll£;ﬁjlgédlr y L)
il Ul o
K.? J:E....Jﬁu;( PP SO g J i/ /;/'/ &QL/
z
D C B A Questions /| <=y Y
#
4 J:/dz/?';:@’ g J;fdsza_-f: i j:?._j; P | e bl b Ser [l
Small english Capital english o - Ui alihabets A set 1s represented by . 1
alphabets alphabets 4 e
Nl 34 )l,le"{ Al (T s el s el {1’ 2,3,4, } 5
Natural numbers | Whole numbers Real numbers Prime numbers {1, 2,3,4, } is a set of numbers.
EwO="
4 P N 3
. EFu0=
' — l‘)
R N p $ | CNe =7 4
O0NnQ =7
:}lﬁJdgjliﬁwfﬂgé {1, 2.3, 4}
8 -+ 0 16 The number of elements in the power set of 5
{ 1,2, 3,4}
pr :ﬂﬂJdKﬂi&rn&_L {(l,b}
0 + 2 1 r<9®umber of elements in the power set of 6
e
AN {\;9) {a’ b}
N An(BUC)="?
(AnB)n(Anc) | (AnB)u(anc) | (auB)u(auc) (A%Q ANC) 7
” AN (B uC ) =: 1
(\\J/l K /
~ e ¥ = J — M 9)
XY’ XY X*'uyfCfg’gy\}\> X'NY XY= LxaYerns | g
“O) For any two sets X and Y, X =Y =7
5
L G s y LS :‘:_*_t'ngf{x|er/\x£101} "
Finite Set Empty Set Infinite Set | The set {x|x € W Ax <101} is:
T .ﬁ
N\ e b i0s(—1,4) L
IV mo 11 I | o * A P
Point (—1,4)lies in the quadrant:
Subjective Part
20 | Write short answers to the following questions. _é.:.«y.e o Lty Sionms | 2
If X =Set of prime numbers less than or equal to 17 and Y =Set | 12 & X = Lr sl e 1T 2ot fre ) Q)
of first 12 natural numbers, then find: XUY 4 A XUYTY = erbolu 3.3
If A=Nand B=W, then find the value of B—A. E e I(B-AJB=W sA=NSI| (i)

S X ={13,57,..,19} Y ={0,2,4,68,..,20} /]

If X=113,57,...,19}, Y ={0,2,4,6,8,...,20} and
XN (YNZ)$%Z={2,3,57,111317,19,23} | (i)

Z=42,3,5,7,11,13,17,19,23} , then find: X (Y nZ)

5
Find a and b, if (2a+5,3)=(7,b—4) (2a+5,3)=(7,b-4) ig&ebuia | (Qv)
If X={a,b,cland Y={d,e}, then find the number of elements in | '+’ SuaZurediY ={de} s X={ab,c} /i )
YxX. YxX e
If Y={-2,1,2}, then make two binary relations for YxY . Also Szt nd ZYXY InY={-21,2} /i "
find their domain and range. _;é r}”‘uﬂf Gttt
Detine intersection of two sets. ) SECEL s | (vi)
What is meant by ordered pairs? Cesl e iz | (vill)
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Define a subset and give one example. o E e SE gy P S 4 (ix)
What 1s meant by domain and range of a function? sl Pl e Gt JJe (x)
12 +8=20 | Attempt All questions. .y Fellzlelly | 3
- = f a
If U={1,234567.8910}, A={13579}, B={2357} | #B=12357}-A={1.357.9] an

then verify the De-Morgan’s Law ie., and |G- Jud ¥ JAGT »U=1{1,2,3,4,5,6,7,8,9,10}

AUB)=A""nB’
( ) (AUB)=A'"B

If U= N then verify De-Morgan’s laws by using A =¢and | J+9 S e219 ¢ ALl S B=PsA=¢JU=N /i

b
B=P. Y (b)
If A={1,3579}, B={234,58and U={1,2,34,.10}, | 7U={1,234,.,10} »B={234,58}.A={1,3,57,9} /) ©
C
then prove (A—-B)'=A"UBby Venn diagram. _éﬁﬁgﬁ_r,ﬁ,jw[(A_B)r=AruB
THEOREM. [8 Marks]
Prove that two chords of a circle which are equidistant (d)

_ujf_ﬂJ&L}"‘(’f(zuyE}-"LﬁJld}lﬁa:.f/)?}'n) Lé./’bfﬂé&:f‘

from the centre, are congruent.

NOX
%@@O
N,
&
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Name: Test Series Time: 70 Mints Marks: / 50
Roll#. Section: MATHEMATICS 10" Syllabus: Ch#06 + Theorem#1[Ch#12]
Objective Part

11| ®®0C® [02] ®®O® |03]| ®B®OD (04| ®E®OO (05| BBOD®

06| WP®CODO |07 ®WBOD (B8] WEOD |9 HWEOD® (10| ®EOD

{:( UsrbmlieLl-Sus & eSS NS0 5 ) b LR ) u:fl)ZE':.)/?:l -L{.’Z%)DJ}’ CBAcxliz 0 Jlgéidlr' Y L)
; . il Ol g
K.? J:E....Jﬁu;( PP SO g J i/ 4‘;/ .:.,b’L.J_/
D C B A Questions | Uiy Y- Y
None EUs A U KU, :.lz?-@.,.;rf -1 1
Circles Rectangles Squares A histogram 1s a set of adjacent:
o, t‘lgg/:l5'4:ﬂJLE'AA L :(..:..fl,u.;g_)f CLL"Ul/E’KdJﬂLj/
& ;Jmuj LZUUL S
All )3&(}'&& L@l A 5
Class Lim: Upper Class Midoi | _ *
ASS LAMMLS | g o e 1dpoints | In a cumulative frequency polygon frequencies are
plotted against:
; i o > :z;.t‘ﬁ,!r:ldl,?c“'_i k Aﬁf”’ﬂ’?mx dfa.{l Wﬁ/?'(fr
N P kovrela dw ‘ T : .. . 3
e . . Mean of a variable with similar observations say
Zero K itself Negative ;
constant k 1s:
oL y » et 2 oA K1 A b Qo LUK X 2T
All L ) Sum of the deviations of the variable X from its | 4
Same One Zero .
mean 1s always:
J:/:lufgfﬁ » . ILJM.AJIJLT.?/ML}:,H/J:)WOJ
- b3 ‘ ' - )
None Harmonic - The most frequent occurring observation in a data |
Median Mode . |
Mean set 1S callc;\d?\,\
: . e bl e S U e o1y 2 Sk
All 2 44 2SN 2§ %/\ T . L- R 5l N
: e : ervations that divide a data set into four
Percentiles Quartiles Deciles 0‘
b <\ Va] parts are called:
AP
W J:/}de-?LUJ’f/LJI/lc_LAI(}L?d:&u x,(i=1,2,......,n)
. 3 o
) S | - @ e bl s
INone - Standard \Q, -/31 e whep\ of the squared deviations of | 7
Range ~{| ¢ WVariance _ d , _ _
DeVlaU@)\” X (i ) P, ,n) observations from their arithmetic
(Q\W mean is called:
X :
W MlQuéuﬁ/'LJl/la_.mu}uLau Xi(i=1,2, ...... 1’1)
Jf/"d,}’l:-!/‘ g le_fffﬁ _uj:i [)m_“.«jcf.
adl Standard Range Harmonic | The positive square root of mean of the squared | ©
Deviation Mean deviations of x,(i=1,2,....,n)observations from
their arithmetic mean 1s called:
e d?// -%VM;E.K a./(}”/c}gfg};yu:;lrﬁ;gw
WAL "%t
None k! Central . The measures that are used to determine the degree | ¢
Average Dispersion | or extent of variation in a data set are called
Tendency
measures of:
All 0713 &:/ J{i‘m = JU"E%(?/CMUIEQSJJ 10
. Closed . .
Circle Rectangle : A frequency polygon 1s a many sided:
Figure
Subjective Part
20 | Write short answers to the following questions. _£¢§l£ Vi LellySsoxr | 2

The sugar contents for a random sample of 6 packs of juices of a Lsentur /S ae §SE ALl gL I i
cqrtgin branfl are founc'l to be 2.3, 2.7, 2.5, 29, 3.1 and 1.9 -ér"h’:*’wﬂ-&@&. (1)
milligram. Find the median. 2352 1:2:3:2.9:3.1,1.9

" d/'f‘u"c. /ﬂw/afl.fzd/u?ﬁ S5 osan
Find the modal size of shoe for the following data: kel 2l ’ =t

4,4,5,5,6,6,6,7,7,5,7.5,8,8,8,6,5,6,5,7 S (11)
4,4,5,5,6,6,6,7,7,5,1.5,8,8,8,6,5,6,5,7
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For the following data find the Harmonic mean. -é(:b"bf;ljfﬁ & Lol 3004 D
X|12|5|8|4 X[112]|5|8|4
What do you understand by measures of central tendency? LS UZ bl AN Lkl s iy (iv)
Find arithmetic mean by direct method for the given set of data: :érk”»;ldp%lrj sosire 3 PE A bsi v)
12,14,17,20,24,29,35,45 12,14,17,20,24,29,35,45
The following data shows the number of children in various ) 2ese b SN FEUF LN A 51 f 5 i
s i e 0 k| o
7’1 1’4’4’8’4’3’2’7’9’16 ’9 ’7 ’6 ’9 5 T 9,11,4,5,6,8,4,3,7,8,5,5,8,3,4,9,12,8,9,10,6,7,
T e e 7,11,4,4,8,4,3,2,7,9,10,9,7,6,9,5
How do you define measures of dispersion? S eolony P | (vin)
Write three properties of Arithmetic mean. LSy F o S J. Lesidle | (viln)
What do you mean by Harmonic mean? _EUSUE b T U AL bl BT A | (iX)
Define Standard deviation. AR (x)
12 +8=20 | Attempt All questions. ...;a;:,:, Felzlely | 3
Find the geometric mean for the following data: . s sl 5 4Pl Soiv 5000 | NA
: Frequency (Number of . —— .
Marks in Percentage Students) ) A GLIS U ) ts i
31 - 40 28 3] = 40 28
41 - 50 31 41 - 50 31
51 --- 60 12 51 --- 60 12
61 -— 70 9 61 --- 70 9
7l -— 80 5 1] ~=8{ 5
For the tfollowing distribution of marks calculate Range: 5 Caa P! St sf p S s S 7o L5 o s i
Marks in Frequency (No. of N — R
Percentage Students) ,Q(/b\ i 2o FOLISUr* )
31 --- 40 28 \,E’ 31--40 28
41 --- 50 31 y O@ 41 --- 50 31 (b)
5:_ --- 60 12 o Q& 51 --- 60 12
61 -—- 70 9 ”8% 61 --- 70 9
71 - 75 5 AU\ 71 —-- 75 5
Find the Range for the following distribution: @ e A
Classes / Groups f QA /X‘}) w200 S r
10 --- 19 10\ 10 — 19 10
20 —- 29 R 20— 29 7
30 --- 39 i §$\9 30 —— 39 9 (c)
40 --- 49 VY6 10 —— 49 6
50 - 59 % 50 — 59 9
60 --- 69 1 60 — 69 1
Total 2.1 =40 dd F >.f =40
THEOREM. [8 Marks]
Prove that the measure of a central angle of a minor arc of u’;:a,u‘f&?luﬁ;l,&i»,:,;ljdﬂ//Ul;ic_u/f‘u’fjgjb‘f/féqﬁ (d)

a circle, 1s double that of the angle subtended by the

corresponding major arc.

- l)"!EU-GJ::..H“_,!UJ)“’;La/:S'/
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Name: Test Series Time: 70 Mints | Marks: / 50
Roll#. Section: MATHEMATICS 10" Syllabus: Ch#07 + Theorem#2[Ch#12]
| ~ Objective Part |
01 ®ECD (2] PEOD |3 APEBOD |4| ABOD (05| AB®OD
06 A®ODO |07 WEOD |B8] AWBEOD |9 ®W®OD |10 ABOD
{:( UsrbmlieLl-Sus & ;wfgﬁt:@ﬂ;%‘?awr.CVl;‘.’.u»a.uiu:jl)Zé.)éjl-wZQJDm CB =A¢Ll£;ﬁjlgédlr y L)
il Ul o
K.? J:E....Jﬁu;( PP SO g J i/ /;/'/ &QL/
D C B A Questions | Uiy Y- Y
L 4/ <A Lf/'? 31 T , -%’t‘?{ jjg{ﬁjyiﬁugguzu:l?f i/{” 1
A Radian A Minute A Degree An Angle © umon ot wo non-coinear rays, which have
common end point 1s called:
S FTRAILA | kUL s bl et et S B8 e
Circular MKS Sexagesimal CGS Svstem The system of measurement in which the angle is | 2
System System System y® measured 1n radians 1s called:
3600/ 1200’ 630’ 360 20° = 3
= /4 .3%.
30° 150° 135° 115° 4
3m :
— radians =
4
0= Jrtan0=+/3 /I
30° 60° 45° 90° >
It tan(?):\/g then 0=
1—tan’ 0 1+cos” 6 1+ tan” 0 1—sin”0 sec” 0= 6
cos0 sec” O 2cos’ 6 2sec’ 0 k/?:\ : + I = 7
/,_\\’Q “A4sin® 1-sinO
B 1 1 ~ AD I D
L) N — — ~N\O —cosec45” = 3
2 V2 2 W2 {8 2
$in 0 1 1 N o
OcotO = 9
cos 0 sin 0 cos 0 KS,,K-Q v
tan O 0 ] (@\u@}l\’ cosec’@—cot” 0 = 10

-

O 4
R Q Subjective Part

i ™

‘-‘:l 'I\'\. — i

ing questions.

_ah, M2 L ey S osur | 2

20 | Write short answers to the {N !
7
Convert 32.25°to D°M'S" form.

2 LS M, D° 32.25° (i)

Convert 1into radian measure: 124°22’

124°22" g2 bwr i o | (i)

Find ¢, when: 8 =180°,r =4.9cm

0=180°,r=4.9cm .5~ Sl (111)

o &3S APB U
What is the length of the arc APB? v B (iv)
+ P
> & SEOPR A8
Find the area of the sector OPR. /4\ (V)
O o

20 7

Find without using table or calculator: cos540°

COS540° 1 nd 2 L) M s | (Vi)

In which quadrant 6 lie when: cos0 <0, tan6 <0

cos0<0, tanB<0 GExw it 0 s | (viD)

What 1s radian measure of the central angle of an arc 50m long

on the circle of radius 25m?

lJl,ei,;f/ﬁ;.}: 25 S8 4 50 JHJJ;’.{,;}:U
U b s sl

(viin)

What are trigonometric ratios? Write names.

Lot U eF | (ix)

What 1s the relationship between radian and degree?

_é4jyuy;;£dfjgjl@;; (x)

12 +8=

20 | Attempt All questions.

S ezl ety | 3

Verity the identity:

sinO+cos®  cos’0

tan20—1  sin®—cos®

sinf+cos®  cos” 0 L oS L )(a

>y

tan’0—1  sin®—cos0
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9 . . 5aF QL iw U B Ll ‘ -2/
If cosB= 3 and terminal arm of the angle 61s 1n quadrant J‘ﬂ“’ ok # Ob 9t 2 Oo ey 32 SFIEO o110l cOS0 = 3 A (b)

II, find the values of remaining trigonometric functions. Y pl’”u:"f

An aero plane pilot flying at an altitude ot 4000m wishes
to make an approach to an airport at an angle of 50° with | 42474 &1L 50° S m-g i Az 4 44 S 4000 2H

the horizontal. How far from the airport will the plane be e S Pt it Le $os d‘f ey Al bt ©

when the pilot begins to descend? ‘ T
THEOREM. [8 Marks]

Prove that any two angles in the same segment of a circle (d)

B 1A UnCls St MBS e o) S EE et

are equal.
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Name: Test Series Time: 70 Mints | Marks: / 50
Roll#. Section: MATHEMATICS 10™ Syllabus: Ch#08, 09 + [Ch#1-4 Def]
Objective Part
01 @WE®ODO |02] A®BOD |03 ABOD 4| HDEOD |05 HWB®OD
6] P®ODO (07| ®WEOD |08 WBOD 09| ®WEOD (10| AB®OD

{:( UsrbmlieLl-Sus & ;wfgﬁtﬁﬂ;.‘w& b LR ) u:beE':.)J;:l -LEZ%)DJ}’ CBcAellz o0 Jlgédlr' y L)
il Ol g
K.? J:E....Jﬁu;( PP SO g J i/ /;/'/ &QL/
D C B A Questions | Uiy Y- Y
Z_ sl c:_/;d?/u/ 4'4/:;('& ‘/5;:../5} z:lf,(’b? :u,?dluié.jb(ﬁug
Halt obany | ry) Unequat | [POP O | Al Equal | Radii of a circle are: :
chord “AU | the Diameter qHd aci ot d & A
s 13 a5 /?3. s \ chord | . IZ%EM/}U“LJ}E,;%/,LT{I} ,
i - [iasmetes Radiis chord passing through the centre oI a circle 1S
called:
/4,3' // ' s | | & J,?L)}fjﬁ-jtdjifi;Jcié.jb .
; - : Right bisector of the chord of a circle always passes
Diameter Centre Circumference Radius
through the:
0 /13,2 Pl Py }gga.fb LK1 :%VMﬂ'ﬁl;c-J;wccufﬂ'U}"IJJ)J.ZJJMgL-j‘b
Segment of a | Diameter of | Sector of a | Circumference of | The circular region bounded by two radii and the | 4
circle a circle circle a circle corresponding arc 1s called:
BN Sk # YR f g “ff;/ f.‘c“{ W Lt 5
An Arc A Chord Diameter Radius _ € distance oI any point of the circle to 1ts centre
1s called: /,;\
. , D) U Lbsse B 2Er LG AL G5
A L 0713 s 6
. ST . . Lo ug( a point 1n a plane equidistant from a fixed
Diameter Circumference Circle Radius
\p is called:
o 1 A & /8 :;.MW%LL/;W[&L& v
/\\ The symbol for a triangle 1s denoted by:
w() -
360° 270° 180° . @Q 90° S el St 8
f\‘:.j;\\ OV A complete circle 1s divided into :
J"’}J’(LJC)' u,:‘ ¢ /\é)w [ ?Q.ija:_!:@fﬁagajb
i \ # _coll; : 9
None of Three @ WO One Through how many non-collinear points, can a
these circle pass?

Subjective Part

20 | Write short answers to the following questions. & =\ ) Lty Sions | 2
Define projection. AN (i)
Define reciprocal equation and give an example. S el SSE P Sbslas ™ (11)
Define symmetric functions. Sy ESET | (i)
Define acute angle. Ew S linl (iv)
Define joint variation. et p e F S (V)
Define a fraction. E A8 (v
Define circumcircle. E PG | (VD)
Define a circle. Sy G | (vidd)
KCD 51 AB Us st 00 L e 25 L1 b ZF3n
S LB s
As shown 1n the figure, find the distance between two parallel (%)
chords AB and CD.
What is meant by circumference of a circle? el pf e bEe S5 (x)
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12 +49=21 | Attempt All questions. L Fenlety | 3
Prove that the largest chord 1n a circle 1s the diameter. e bGP LI e St S A )(a
Given mAC = lem | RO Dzt , mZC=120° . Compute the S JAB CL" ym/C=120° sy mBC =2cm <mAC =1Icm /! (b)
length AB and the area of AABC . _ éfr,h/ 36 AABC s
In a triangle ABC, m AB =6cm, m_BC =8cm , mAC =9cm ,&33131(9JLJJ/A_C:(’8 JUJ%r(ﬁJuJﬁ U ABC &
and D 1s the mid-point of side AC. Find length of the L der S SBD 5 & AT (c)
median BD e SO BD Sl Y 8 ACD
THEOREM. [8 Marks]
In any triangle, the sum of the squares on any two sides 1s (d)

equal to twice the square on half the third side together Léﬁ id e s KU LW e 3 uﬁ&«t‘*u/ SE el
Wiith twice the square on the median which bisects the third e bniznbe ALE L sl Sy
side.
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Name: Test Series Time: 70 Mints Marks: / 50
. TH Syllabus: Ch#11,13 +
Roll#. Section: MATHEMATICS 10 Theorem#3.4[Ch#12]

Objective Part

1| A®0CO |022] ®ECD |03] ABOD |4| AECOD |[05] ABOD

06| WEOD |07 P®EOD |08 WBOD |9 WEOD 10| ABO©D

{,[ UsAomlie Ll -Sos & a.ufk);t;’;f'l):ah‘?& b Lo ne J u:be‘é:J/?Jl -ujzejD,vl CB ‘A..:vl,lﬁ;f ;lgﬁdly‘ . Ll
- ] . s Ol o
K )22 s A ey d/ /. /:,/ :—fKLL-/
D C B A Questions | Ui = /
31 d// s & = 73t 4 JLUL J/Jlu 1 7y Je ey L
K .
75° 60° 45° 30° .
The length of a chord and the radial segment of a
circle are congruent, the central angle made by the
chord will be:
e b S 655 L e 40° LSS 6T L
80° 60” 40° 20° An arc subtends a central angle of 40°then the 2
corresponding chord will subtend a central angle of:
S fﬁl}d}(/ﬂfﬂigﬂj
360° 270° 180° 90° The semi circumference and the diameter of a circle | 3
both subtend a central angle of:
§ : Ay TP 5SS S F ke Fr L)
Perpendicular Parallel fncongruent | Eongroent he arcs opposite to incongruent central angles of a
circle arc always:
k ﬁ\ wélgf/dt"éc:,,&d/l,ié./l;
None 3 2 l How @ny tangents can be drawn from a point | >
~ houtside the circle?
A\ D)) o . e (ee
- - 2, S\)é :é.dﬁzl,@‘d/uzwdﬁ/;éu/‘f/.{l
All ? 6 2\\{%} The measure of the external angles of a regular 6
,E}j@i octagon is:
N tﬁ;u;b/ VP(’: , "ﬂ&\ O\ YJ/ 1Uﬁéxblﬁ';a(/“j'uf£¢.}'b
i Not S AR Over . . L 7
. Collinear Circles having three points in common:
Coincide AN Lapping
skay y .
N » y A . 7
AT =, \B\iﬁ ﬁgga}ucw’ | .G;_LM{uyﬂéuywﬂui,,Clﬁ,ﬁ&./u,{l .
The portion of a circle between two radii and an arc
Chord Segment Sector .
1s called:
3 S % ?Lg_gﬁbfzéijlycﬁé.f!)&yJfgéé.}'l}._«gl
None . . . The length of the diameter of a circle is how many | 2
Three Times | Two Times One Time . : ;
times the radius of the circle?
- - . :%.gﬂjlﬁf JQJU&,&/JLJMVQ
All 6 N 3 The measure of the external angle of a regular | 10
hexagon 1s:
Subjective Part
16 | Write short answers to the following questions. ..a“@gu: o Lty Sionms | 2
Deftine regular polygon. Sy P S 2 S (1)
The length of each side of a regular octagon 1s 3cm. Measure 1ts ¢ : a e, .
Perimeter. '"ér’b/"l’ LPIKJL‘;_(‘B du(}/é"a_ﬂu"(b" “'"ﬁ (1)
Define and draw the circumscribed circle. -;..l;,f ,«;l"&g._ég /7 J 0 /13 ¢ (111)
Draw circles which touches both the arms of angles (i) 45° (ii) nd #J, Uf’f'wﬁ""-"f—u%ﬂjié-)ﬁ;:j g (iv)
60° 60° (1) 45° (1)
Construct a circle of radius 2cm. Draw two tangents making an | &2t 2/660° £ Lokl b6 2 s W)
angle of 60° with each other. 22 s
Circumscribe a regular hexagon about a circle of radius 3cm. _z;'_l:;u",p»(g* i Sl 3 I (Vi)
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Circumscribe a circle about an equilateral triangle ABC with ST L1 S i tuadi P ABC Lol Sols (i)
each side of length 4cm. 4 S

Draw two common tangents to two touching circles of radii | » < WI-Uff™ 3.5 #1725 UL Ui x LI (viii)
2.5c¢m and 3.5¢cm. _g/u«vu(}p

8x3=24 | Attempt All questions. S fegl ey | 3
Prove that if two arcs of a circle (or of congruent circles) | SH s Zulius @Uis b it Lusrnd Fon S gt | )
are congruent then the corresponding chords are equal. A
Prove that the angle: A e DR Uyt al) KB st Jo Iy S 2 2 1S é =

In a semi-circle 1s a right angle. In a segment greater than a
semi circle 1s less than a right angle. In a segment less than
a semi-circle 1s greater than a right angle. N

o e I L e DRl by pinlest iy | (D)

Prove that the opposite angles of any quadrilateral
inscribed 1n a circle are supplementary.

el e i h L g imS i St | (0)
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